Business Ownership Recap GAP FILL Exercise

A limited company is owned by __________________and the Directors have ______________ liability.  This means that they can only lose the amount of money they have ______________ in the company.  Private Limited Companies (___________) have at least ________________ and ________________.  Public Limited Companies (_____________) have at least _____________ and ______________.  Usually Public Limited Companies have a lot more shareholders because there is a minimum of ___________ of share capital which is bought and sold on the _____________________.  ____________ can buy the shares which means the ownership of the business is constantly changing.  Private Limited Companies are often ____________ businesses.  The shares can only be sold if all the other shareholders _____________.  An example of a Public Limited Company is ________________.  An example of a Private Limited Company is __________________.
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